PRILOS..

Prijon GmbH
Herstellung und Vertrieb von
. Sportgeraten
Sparepart-list Innlande 6
83022 Rosenheim
Telefon: 08031/3037-0
Telefax: 08031/3037-99

WWW.prijon.com
2013 e-mail: info@prijon.com

Touring- and Seakajaks

Dear Prijon customer,

here you see a list of spareparts for touring- and seakajaks.
This list will help you to identify the parts you need for your boat.
So the boat will be ready for use again in a short time.

In the PDF-file you have an order based on the part groups. From this you can click to the
price list for this part group.

If you do not find the part you need in this list just contact us and we will help you, of
course.

Best Regards

Your PRIJON-Team

Prijon GmbH @ Innlande 6 ® 83022 Rosenheim ® info@prijon.com ® 08031-3037-0




Deckfittings Touringkajaks PRIJON

=
l"
Belt for paddle holder behind cockpit. Art.: 90283 g G Grip Cruiser |l and III

complete with screws
90001639

5 ‘_ \][ e §
Locking fitting 90014 Q G

Grip Tour complete
90000241

Topcleat 90000911

Belt fitting with rope control

» 90000688
oL _

Scres for deck fittings M4
Set of 10 pcs.10000001

Belt fitting basic
90000565

Rivet for Deckfitting 4x14
90000553 (Set of 10 pcs.)

@« A

Hook for front line Side fitting for
90001175 front line.
Deck net with fittings 90000646

L size 90001244

S size 90128 “

Hook for deck netting small Grip ball
90001756 90001681

Front line (please give us the boat type)
90285



Foot control and rudder fittings

%
Holder for rudderblade

incl. screws M6 x 35

nuts M6 and washers M6 Sealing for

90040 rudder fitting
90096

/

Deckfitting rudderline
new version

90001 ?

Deckfitting rudderline
old version
90102

Tubing for rudderline
90000538

Footbrace Sawtooth Set HH UH

including screws and nuts.
Art. 90046

e

Rudder fitting stern

incl. screw M6, nut brass M6,
neoprene ring and rivets
90104.

Stern rudder fitting inc. Screws and
sealing.
90001676

Holder for line tubing.
90000978

—
—
-

Screws for deckfittings
Set of 10 pcs.
10000001

Foot pedals, pair
90530

Rail for footcontrol Tour, pair
10000002

Screw for rail footcontrol
90000658

Complete set of foot control
including rails, pedals and screws.
Art. 90045

Please give us the boat type.



Tour-Seat spare parts

Seat Tour complete
Please give us the boat type.
90009

Tool M5

90001059

Back rest Tour without cover
90133

Seat base Tour
Please give us the boat type.
90026

Back rest Tour complete
with cover and adjuster belt.
90136

Cover for back rest tour.
90001305

Cover for Seat tour.

90001315

H \\\\—/
Screw for seat Oval washer with Vibre washer Seat nut M8
Flansch M8, 10000007 sealing neoprene. 90001550 90001178

90001502



HATCHES
for PRIJON touring kajaks.

GOOP-glue for foam bulkheads

Art.: 00017
Foam bulkhead for touring kajaks Fitting with rope control for hatch belt.
front 10000003, rear 10000004 90000688

Please give us boat-type and year of manufacturing.

e -]

Hatch belt for PE hardcover. Screw M4 for Deckfittings
Art.: 90105 Please give us boat-type and year of Set of 10 pcs. 10000001
manufacturing.

PE-hard cover Neoprene cover

Following you see a list of neoprene covers and PE-hard covers
according the boat types. You can find the article number and price for your boat.



PE hatches PRI1JON

Boat type

Jan 13

90001230

90001231

90001268

90001269
90126
90127
90115

90001682

90001683
90112
90113
90109
90111
90107

90001189

90001635

90001636

90001575

90001576

90001514
90120
90100
90101
90146

90001790 + 90001789

front

rear

front

rear

front

rear

rear

front

rear

front

front

front

rear

rear

front

front

hinten

front

rear

rear

rear

front

rear

rear

rear

ALBOREA

BARRACUDA

BARRACUDA RS

C 359

CALABRIA

Capri | und 11

Capri | und Il 2013-

CATALINA

Cruiser all

Dayliner S

Dayliner L + "Light"

EXCURSION

KODIAK

LAGUNA

MARLIN HTTP

Marlin PriLite

MILLENNIUM

MOTION

Odyssee

PIAVE

POSEIDON

PROTEUS

SEAYAK 1997-

Seayak - 1997

SEAYAK K 2

SEAYAK 500 LV

SEAYAK 520 HV

Seayak junior PRO

T-470

T-505

TOURYAK

TOURYAK 500

YUKON ESKI

YUKON K 2 RELAX

YUKON K 2 SPORT

YUKON-EXPEDTION




Neoprene hatches Prijon

Boat type

90122
90114
90154
90155
90125
90138
90116
90157
90144
90156
90110
90106

front

rear

front

rear

front

rear

front

front

rear

front

front

rear

ALBOREA

BARRACUDA

BARRACUDA RS

C 359

CALABRIA

CATALINA

Dayliner S

Dayliner L

Dayliner "Light"

EXCURSION

KODIAK

LAGUNA

MARLIN HTTP

MARLIN PriLite

MILLENNIUM

MOTION

Odyssee

PIAVE

POSEIDON

PROTEUS

SEAYAK ab 1997

Seayak - 1997 both

Seayak 500 LV

Seayak 520 HV

SEAYAK K 2

T-470

T-505

TOURYAK

TOURYAK 500

YUKON ESKI

YUKON K 2 RELAX

YUKON K 2 SPORT

YUKON-EXPEDTION

Jan 13



[ o
PRIJON DeckBox 'l,!a! lﬁ;m

Base ring DeckBox 2012
90001778

identic holes as
ring 90001648

Top hatchl DeckBox 2012
90001777

Top hatch Deckbox

Base ring DeckBox Art.: 90001647

with sealing Art.: 90001648

Sealing for DeckBox 2008
Art.: 90001610
Does not replace the older, yellow ones!

Base ring for hatch

Capri l und 1l 2013,

Seayak Junior PRO
90001790

Top hatch Capri | and Capri I 2013
Seayak Junior PRO 2013
90001789

Neoprene bag for DeckBox
straight 90001447
curved 90001512

Screws M4 for deck fittings
Garnitur 10000001 (10 pcs. per pack)

oy —1
-’ 'S E




Cockpit and cockpit parts

@ .
EEl[
We use different versions of cockpits on our boats. v bee Com

Please inform us about the boat type and the date of manufacturing
of your kajak.

e

Rivet for cockpit
90001168

QOuter part of rivet

for cockpit.
90000684

Cockpit 10000005
Please inform about type

and year

Thigh braces 10000006

We use different versions.
Please inform about boat-type
and year.

Foam thigh brace for PriLite and laminated boats
90001520

3D-Thighbrace set complete

90205 3D thigh brace

To of
o 9

%o of

Base plates, pair
90001704

Thigh braces separate, pair
90001703

Screw Flansch M8 Nut for thigh braces Nut M8

10000007 90001178 90000363
please inform about length



STICKERS

PU-Stickers for Prijon-Boats (see some samples below)
Art. 10000008
Please give us the type and the motive!

Paper-stickers for Prijon-Boats. (see sample below)
Art. 10000009
Please give us the type and the motive!

Towryak \



Repair material

y
Polyester Rep- set 400g.

Epoxy Rep-set 250 g to repair kajaks made of Glassfibre.

to repair kajaks made of Art. 00012

Carbon-Aramide and PriLite

Art.: 00011

Neoprene glue
Art 00040

Goop glue
for foam bulkheads
Art. 00017

@ 5 o

Glue for rudder fittings
and ramcaps.
Art. 90096

— | xerapol
Repairstick for HTP-boats
in several colors Xerapol polish
for use in a heat gun. for PriLite decks.

Art. 90092



Sparepart-List for Touringkayaks PRIJON

Deckfittings

Seat touring

2013 EURO EURO
EK netto retail
90283|Belt for paddle holder behind cockpit. 4,10 8,20
90001639|Grip Cruiser 1l and Ill complete with screws 4,75 9,50
90000241 |Grip Tour komplete 10,40 20,80
90014 |Locking fitting 6,90 13,90
90000911 |TopCleat 1,80 3,60
90000688|Belt fitting with rope control 1,40 2,80
90000565|Belt fitting basic 1,40 2,80
10000001 |Screws for deck fittings M4 x 14, Set of 10 pcs. 4,20 8,40
90000553 Rivet for deck fitting 4x14, Set of 10 pcs. 3,20 6,40
90001175|Hook for front line 1,40 2,80
90000646 |Side fitting for front line 1,40 2,80
90001756|Hook for deck netting small, new 0,40 0,80
90001681|Grip ball 0,75 1,50
90285|Front line (please give us the boat type) 4,40 8,80
90001244 |Deck net with fittings, L-size 13,50 27,00
90128|Deck net with fittings, S-size 13,50 27,00
Foot control and rudder fittings
90040|Holder for rudderblade, complete with screws, nuts and whashers. 13,20 26,40
90104 |Rudder fitting stern, complete with screw, nut and rivets. 19,10 38,20
90039|Rudder fitting stern, complete with screw, nut and washers. 17,00 34,00
90001676|Rudder fitting stern, complete with screw and sealing new 2011 16,20 32,40
90096 |Sealing for rudder fitting and ram caps. 6,20 12,50
90000538 Tubing for rudderline 1,30 2,60
90000978|Holder for rudderline tubing 1,10 2,20
90001409|Deckfitting rudderline new version 1,10 2,20
90102|Deckfitting rudderline older version 1,40 2,80
90046 Sawtooth footrest with screws and nuts. 20,00 40,00
10000001 |Screw M4 x 14 for deck fittings (Set of 10 pcs.) 4,20 8,40
90530|Pedal for tour foot control, pair 25,20 50,40
10000002 |Rail for footcontrol, pair. Please inform about boat type. 16,80 33,60
90000658|Screw for rail foot control tour. 0,90 1,80
90045 [Footcontrol tour complete with pedals and screws. Inform about boat type 42,00 84,00
90009|Seat touring complete with backrest and padding. Inform about boat type. 84,40 168,80
90001059|Tool M 5 2,60 5,20
90133|Backrest tour without padding and belt 25,20 50,40
90026|Seat tour basic. Inform about boat type. 30,45 60,90
90136|Backrest tour with padding and adjuster belt. 38,30 76,60
90001305|Backrest padding 10,50 19,90
90001315|Seat padding 14,90 29,90
10000007 |Screw M8 for Seat. Inform about type / size. 1,25 2,50
90001502|Oval washer for seat screw. 0,90 1,80
90001550]Vibre washer for seat screw. 0,20 0,40
90001178|Nut M8 for seat screw. 1,50 3,00




Foam bulkhead, hard covers and neoprene covers.

10000003 |Foam bulkhead for touring kajaks front (Please inform about boat type) 9,50 19,00
10000004 |Foam bulkhead for touring kajaks rear (Please inform about boat type) 11,60 23,20
00017|{GOOP-glue for foam bulkheads 4,20 9,50
90105|Hatch belt for PE hardcover. (Please inform about boat type) 8,60 17,20
90000688|Fitting with rope control for hatch belt. 1,40 2,80
10000001 |Screw M4 x 14 for deck fittings (Set of 10 pcs.) 4,20 8,40
see list PE-hardcover. Please check on the attached list. 16,30 32,60
see list Neoprene cover. Please check on the attached list. 8,60 17,20
90146 |Hardcover for Capri, complete with screws. 18,90 37,80
90001790|Base Ring rear hatch Capri and Seayak junior PRO 2013 - 7,90 15,80
90001789|Hatch Capri and Seayak junior PRO 2013 - 14,20 28,40
DeckBox
90001778|Base ring for DeckBox new KajakSport 2012 - 5,00 10,00
90001777|Hatch for DeckBox new KajakSport 2012 - 6,90 13,80
90001647|Top hatch for DeckBox 4,70 9,40
90001610|Rubber seal for DeckBox from 2008 1,60 3,20
90001648|Base ring for DeckBox 4,10 8,20
10000001 |Screw M4 x 14 for deck fittings (Set of 10 pcs.) 4,20 8,40
90001447|Neoprene bag for Deckbox, straight version 5,90 11,80
90001512 |Neoprene bag for Deckbox, curved version 5,90 11,80
90028|DeckBox complete with base ring, sealing and neoprene bag. 18,90 37,80
Cockpit and cockpit parts
10000005|Cockpit ring, please inform about boat type. 22,00 44,00
90001168|Rivet for Cockpit 1,00 2,00
90000684 |Outer part for cockpit rivet. 1,00 2,00
90205|3D-Tghigh brace with base plate and all screws, complete set. 30,00 60,00
90001704 |Base plate 3D, Pair 10,00 20,00
90001703|Braces 3D, Pair 16,00 32,00
90001520|Foam thighbrace for PriLite and laminated boats, pair. 14,70 29,40
10000006| Thigh braces, pair. Inform about boat type. 25,20 50,40
10000007 |Screw M8 for thigh brace, inform about boat type. 1,30 2,60
90001178|Nut M8 for thigh brace 1,70 3,40
90000363|Nut brass M8 for thigh brace 0,90 1,80
Stickers
10000008|PU-Stickers. Please give us boat type and motive. 2,00 4,00
10000009|Paper-Transfer-Sticker. Please give us boat type and motive. 1,26 2,52
Repair-material
00011|Epoxy Rep-set. 25,00 49,90
00012 |Polyester Rep-set. 14,90 29,90
Repairstick HTP, please inform about color 1,50 3,00
00017|Goop glue for foam bulkheads 4,20 9,50
90096|Glue for rudder fittings and ramcaps 6,20 12,50
90092| Xerapol, polishing for PriLite decks. 6,80 13,90




	DeckFittings
	Rudder fittings and Foot control
	Tour Seat and Backrest
	Hatches and bulkheads
	List PE-Hatches
	List Neoprene Hatches

	DeckBox and hatch Capri and PRO
	Cockpit and thigh braces
	Stickers
	Repair
	Price-List

